
P
L
O

T
 
D

A
T

E
:

LOCAL FILE:

0
2

0
7

/
2

1
/
2

0
2

0
R

E
V

I
S

E
D

E
X

A
R

T
D

A
 
D

i
v
i
s
i
o
n
 
o
f
 
W

T
D

 
H

o
l
d
i
n
g
s
,
 
I
n
c
.

2
2
5
5
 
J
u
s
t
i
n
 
T

r
a
i
l
 
|
 
A

l
p
h
a
r
e
t
t
a
,
 
G

A
 
3
0
0
0
4

(
P

H
)
 
8
0
0
.
3
5
3
.
0
8
9
2
 
(
F

A
X

)
 
7
7
0
.
5
6
9
.
9
9
4
4

w
w

w
.
C

T
-
D

a
r
n
e
l
l
.
c
o
m

 
|
 
w

w
w

.
S

u
n
b
e
l
t
-
R

a
c
k
.
c
o
m

©
 C

op
yr

ig
ht

 2
01

9 
by

 W
TD

 H
ol

di
ng

s,
 In

c.
 A

ll 
rig

ht
s r

es
er

ve
d.

 T
hi

s d
oc

um
en

t i
s p

ro
pe

rt
y 

of
 W

TD
 H

ol
di

ng
s,

 In
c.

 It
 is

 to
 b

e 
us

ed
 o

nl
y 

fo
r t

he
 sp

ec
ifi

c 
pr

oj
ec

t r
ef

er
re

d 
to

 o
r

id
en

tif
ie

d 
he

re
in

 a
nd

 is
 n

ot
 to

 b
e 

us
ed

 o
n 

ot
he

r p
ro

je
ct

s,
 in

 w
ho

le
 o

r i
n 

pa
rt

, e
xc

ep
t b

y 
th

e 
ex

pr
es

s w
rit

te
n 

ag
re

em
en

t o
f W

TD
 H

ol
di

ng
s,

 In
c.

P
R

O
J
E

C
T

 
N

A
M

E
:

STRC #:

D
E

S
C

R
I
P

T
I
O

N
D

A
T

E
R

E
V

.
D

R
F

T

SCALE:

S
H

E
E

T
 
D

E
S

C
R

I
P

T
I
O

N
:

S
H

E
E

T
 
F

I
L
E

 
N

O
:

P
R

O
J
E

C
T

 
N

U
M

B
E

R
:

S
A

L
E

S
P

E
R

S
O

N
:

SHEET NO:

C
H

K
D

E
N

G

Q
9

9
-
9

9
9

9
9

L
O

W
E

S

C
A

N
T

I
L

E
V

E
R

 
R

A
C

K

I
N

S
T

A
L

L
A

T
I
O

N
 
&

 
N

O
T

E
S

RK1

AS NOTED

RK1

100 CANTILEVER RACK ASSEMBLY

SCALE: 1/2" = 1'-0"

USE LONGER ANCHORS WHEREVER

SHIMMING OF RACKING IS NECESSARY.

MAINTAIN 3 1/4" MIN. EMBEDMENT

RK1

CANTILEVER RACK

ANCHOR BOLT CONNECTION  - SINGLE SIDED

ABW01 RK1ABW02

5/8"x 5" DEWALT POWER STUD+ SD2

WEDGE ANCHOR (TYPICAL NON-SEISMIC)

(2) PER BASE/COLUMN AS SHOWN

USE LONGER ANCHORS WHEREVER

SHIMMING OF RACKING IS NECESSARY.

MAINTAIN 3 1/4" MIN. EMBEDMENT

CANTILEVER RACK

ANCHOR BOLT CONNECTION  - DOUBLE SIDED

CRX01

(4) 3/4" x 2" GR. 5 BOLT

CRA01

CRH01

CANTILEVER RACK

ARM CONNECTION

CANTILEVER RACK

X-BRACE CONNECTON

CANTILEVER RACK

HORIZONTAL BRACE CONNECTION

..

..

..

CRB01

(6) 3/4" x 2" GR. 5 BOLT CANTILEVER RACK

8" BASE CONNECTION

..

DETAIL SHEET

CONN. ID

CONNECTION TYPE(S) CONNECTION DESCRIPTION(S)

ABW01 RK1

CANTILEVER RACK

ANCHOR BOLT CONNECTION - SINGLE SIDED

(2) 5/8" x 5" DEWALT STUD+ SD2 (TYPICAL NON-SEISMIC)

WEDGE ANCHORS

MARK DESCRIPTION

COLUMN TYPE(S)

SIZE O.A.H (H)

RC-1 W8x18# 190.50" COLUMNS

BASE TYPE(S)

MARK DESCRIPTIONSIZE O.A.L (L)

AR-1 S4x7.7# 54.00" TYPICAL ARM LEVEL

ARM TYPE(S)

MARK DESCRIPTIONSIZE O.A.L (L)

BRACE TYPE(S)

MARK DESCRIPTIONSIZE O.A.L (L)

HB-1 3/16" 31.75" 2"x2" ANGLE, HORIZONTAL BRACE

XB-1 3/16" 62.25" 2"x2" ANGLE, X-BRACE

BS-1 W8x18# 54.00" BASES

AR-2 S5x10# 54.00" TOP ARM LEVELS

ABW02 RK1

CANTILEVER RACK

ANCHOR BOLT CONNECTION - DOUBLE SIDED

(3) 5/8" x 5" DEWALT STUD+ SD2 (TYPICAL NON-SEISMIC)

WEDGE ANCHORS

30.63"

32.00"

32.00"

32.00"

31.00"

30.63"

32.00"

32.00"

32.00"

31.00"

MATERIAL SPECIFICATIONS FOR STEEL:

1. ALL COLUMNS, BASES, AND LOAD ARMS TO HAVE AN Fy = 50 ksi.

2. ALL BRACE PANELS TO HAVE Fy = 36 ksi.

3. ALL WELDING ROD TO BE E70 OR BETTER.

4. ALL BOLTS TO BE GRADE GR. 5.

BS-1

AR-1

AR-1

AR-1

AR-1

AR-2

BS-1

AR-2

BS-1

AR-1

AR-1

AR-1

AR-1

AR-2

ABW02 ABW01

CRB01

CRA01

CRB01

CRA01

CRA01 CRA01

CRA01 CRA01

CRA01 CRA01

CRA01 CRA01

CRB01

CRA01

CRA01

CRA01

CRA01

CRA01

CRX01

CRH01

NOTE: INSTALLATION OF ANCHORS

PER MANUFACTURERS INSTRUCTIONS

NOTE: INSTALLATION OF ANCHORS

PER MANUFACTURERS INSTRUCTIONS

(4) 3/4" x 2" GR. 5 BOLT

(2) 3/4" x 2" GR. 5 BOLT

HB-1

XB-1

RC-1

TOP HOLE

IN ARMPLATE

TOP HOLE

IN ARMPLATE

**CORRECT BRACING**

(TYPICAL NON-SEISMIC BRACING)

COLUMNS MUST BE BRACED IN PAIRS

w/ AN X-BRACE PANEL(XB-1)

**INCORRECT BRACING**

DO NOT INSTALL A PAIR OF COLUMNS

w/ (3) HORIZONTALS ONLY

AN X-BRACE PANEL(XB-1) MUST BE INSTALLED

5/8"x 5" DEWALT POWER STUD+ SD2

WEDGE ANCHOR (TYPICAL NON-SEISMIC)

(3) PER BASE/COLUMN AS SHOWN

0
0

1
1

/
0

4
/
9

9
.

E
D

G
E

0
1

0
7

/
2

7
/
2

0
1

5
R

E
V

I
S

E
D

E
D

G
E

*

*

* *

*

TYPICAL NON-SEISMIC ANCHORING TYPICAL NON-SEISMIC ANCHORING

TYPICAL 5" TOP ARM

AR-1

TYPICAL 4" LOWER ARM(S)

ARM SPACING VARIES DEPENDING

ON PLAN-O-GRAM

TYPICAL NON-SEISMIC BRACING INCORRECT NON-SEISMIC BRACING

AutoCAD SHX Text
7/21/2020 11:42 AM

AutoCAD SHX Text
S:\SUNBELTshared\DRAFTING_DESIGN\02_EQUIPMENT\A_CAD\LOWES\DETAIL_SHEETS\CANT_LOWES_TEMPLATE_v02.dwg

AutoCAD SHX Text
1316"  HOLES TYP.   HOLES TYP.BOTH FLANGES

AutoCAD SHX Text
COL.

AutoCAD SHX Text
BASE

AutoCAD SHX Text
1316"  HOLES TYP.   HOLES TYP.BOTH FLANGES

AutoCAD SHX Text
BASE

AutoCAD SHX Text
COL.

AutoCAD SHX Text
BASE



GUSSET DETAIL

TAB DETAIL

BASE PLATES

BASE CONNECTION PLATE

X-BRACE PANEL

HORIZONTAL BRACE

BAY(S) @ 34" O.C  /  TABS @ 60" O.C

MARK DESCRIPTION

COLUMN TYPE(S)

SIZE O.A.H (H)

BASE TYPE(S)

MARK DESCRIPTIONSIZE O.A.L (L)

ARM TYPE(S)

MARK DESCRIPTIONSIZE O.A.L (L)

BRACE TYPE(S)

MARK DESCRIPTIONSIZE O.A.L (L)

RC-1 W8x18# 190.50" COLUMNS

AR-1 S4x7.7# 54.00" TYPICAL ARM LEVEL

HB-1 3/16" 31.75" 2"x2" ANGLE, HORIZONTAL BRACE

XB-1 3/16" 62.25" 2"x2" ANGLE, DIAGONAL BRACE

BS-1 W8x18# 54.00" BASES

AR-2 S5x10# 54.00" TOP ARM LEVELS

HOLE LOCATIONSCOLUMNS

MATERIAL SPECS

WELD IN ACCORDANCE WITH STRUCTURAL

WELDING CODE AWS-D1.1-2002

MATERIAL SPECIFICATIONS FOR STEEL:

1. ALL COLUMNS, BASES, AND LOAD ARMS TO HAVE AN Fy = 50 ksi.

2. ALL BRACE PANELS TO HAVE Fy = 36 ksi.

3. ALL WELDING ROD TO BE E70 OR BETTER.

4. ALL BOLTS TO BE GR 5.

0
0

1
1

/
0
4

/
9

9
.

E
D

G
E

A
 
D

i
v
i
s
i
o
n
 
o
f
 
W

T
D

 
H

o
l
d
i
n
g
s
,
 
I
n
c
.

2
2
5
5
 
J
u
s
t
i
n
 
T

r
a
i
l
 
|
 
A

l
p
h
a
r
e
t
t
a
,
 
G

A
 
3
0
0
0
4

(
P

H
)
 
8
0
0
.
3
5
3
.
0
8
9
2
 
(
F

A
X

)
 
7
7
0
.
5
6
9
.
9
9
4
4

w
w

w
.
C

T
-
D

a
r
n
e
l
l
.
c
o
m

 
|
 
w

w
w

.
S

u
n
b
e
l
t
-
R

a
c
k
.
c
o
m

©
 C

op
yr

ig
ht

 2
01

9 
by

 W
TD

 H
ol

di
ng

s,
 In

c.
 A

ll 
rig

ht
s r

es
er

ve
d.

 T
hi

s d
oc

um
en

t i
s p

ro
pe

rt
y 

of
 W

TD
 H

ol
di

ng
s,

 In
c.

 It
 is

 to
 b

e 
us

ed
 o

nl
y 

fo
r t

he
 sp

ec
ifi

c 
pr

oj
ec

t r
ef

er
re

d 
to

 o
r

id
en

tif
ie

d 
he

re
in

 a
nd

 is
 n

ot
 to

 b
e 

us
ed

 o
n 

ot
he

r p
ro

je
ct

s,
 in

 w
ho

le
 o

r i
n 

pa
rt

, e
xc

ep
t b

y 
th

e 
ex

pr
es

s w
rit

te
n 

ag
re

em
en

t o
f W

TD
 H

ol
di

ng
s,

 In
c.

P
R

O
J
E

C
T

 
N

A
M

E
:

STRC #:

D
E

S
C

R
I
P

T
I
O

N
D

A
T

E
R

E
V

.
D

R
F

T

SCALE:

S
H

E
E

T
 
D

E
S

C
R

I
P

T
I
O

N
:

S
H

E
E

T
 
F

I
L
E

 
N

O
:

P
R

O
J
E

C
T

 
N

U
M

B
E

R
:

S
A

L
E

S
P

E
R

S
O

N
:

SHEET NO:

C
H

K
D

E
N

G

Q
9

9
-
9

9
9

9
9

L
O

W
E

S

C
A

N
T

I
L

E
V

E
R

 
R

A
C

K

I
N

S
T

A
L

L
A

T
I
O

N
 
&

 
N

O
T

E
S

RK1

AS NOTED

0
1

0
7

/
2
7

/
2

0
1

5
R

E
V

I
S

E
D

E
D

G
E

AutoCAD SHX Text
38"

AutoCAD SHX Text
NO WELD ALONG BOTTOM EDGE

AutoCAD SHX Text
.81 DIA. TYP. (6) PLCS.

AutoCAD SHX Text
.81 DIA. TYP. (2) PLCS

AutoCAD SHX Text
7.38"

AutoCAD SHX Text
2.50"

AutoCAD SHX Text
.50"

AutoCAD SHX Text
7/21/2020 11:42 AM

AutoCAD SHX Text
S:\SUNBELTshared\DRAFTING_DESIGN\02_EQUIPMENT\A_CAD\LOWES\DETAIL_SHEETS\CANT_LOWES_TEMPLATE_v02.dwg

AutoCAD SHX Text
HORIZONTAL BRACE

AutoCAD SHX Text
31.75

AutoCAD SHX Text
30.00

AutoCAD SHX Text
1.25

AutoCAD SHX Text
59.63

AutoCAD SHX Text
5.00

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
4 PLCS.

AutoCAD SHX Text
3

AutoCAD SHX Text
16

AutoCAD SHX Text
2 PLCS.

AutoCAD SHX Text
13/16" HOLES THRU (4 PLCS.)

AutoCAD SHX Text
OUTSIDE

AutoCAD SHX Text
OUTSIDE

AutoCAD SHX Text
3

AutoCAD SHX Text
16

AutoCAD SHX Text
3

AutoCAD SHX Text
16

AutoCAD SHX Text
2 PLCS.

AutoCAD SHX Text
OUT

AutoCAD SHX Text
+.00

AutoCAD SHX Text
-.06

AutoCAD SHX Text
TO

AutoCAD SHX Text
OUT

AutoCAD SHX Text
HORIZONTAL BRACE

AutoCAD SHX Text
DIAGONAL BRACE

AutoCAD SHX Text
DIAGONAL BRACE

AutoCAD SHX Text
4.06

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
13/16" HOLE

AutoCAD SHX Text
4 PLCS.

AutoCAD SHX Text
4.00

AutoCAD SHX Text
1.50

AutoCAD SHX Text
7.0

AutoCAD SHX Text
5.0

AutoCAD SHX Text
2.75

AutoCAD SHX Text
1.13

AutoCAD SHX Text
2.00

AutoCAD SHX Text
9/16" HOLE

AutoCAD SHX Text
0.25

AutoCAD SHX Text
O.A.L

AutoCAD SHX Text
2.00

AutoCAD SHX Text
1/4" ON FLANGES

AutoCAD SHX Text
BEFORE WELDING

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
3/16" ON WEB

AutoCAD SHX Text
13/16" HOLE

AutoCAD SHX Text
4 PLCS.

AutoCAD SHX Text
9/16" HOLE

AutoCAD SHX Text
2.50

AutoCAD SHX Text
2.00

AutoCAD SHX Text
O.A.L

AutoCAD SHX Text
4.00

AutoCAD SHX Text
1.50

AutoCAD SHX Text
8.0

AutoCAD SHX Text
0.25

AutoCAD SHX Text
2.75

AutoCAD SHX Text
1.13

AutoCAD SHX Text
5.0

AutoCAD SHX Text
1/4" ON FLANGES

AutoCAD SHX Text
BEFORE WELDING

AutoCAD SHX Text
SEE NOTE 1

AutoCAD SHX Text
3/16" ON WEB

AutoCAD SHX Text
3%%D UPTILT

AutoCAD SHX Text
3%%D UPTILT

AutoCAD SHX Text
4" ARM

AutoCAD SHX Text
5" ARM

AutoCAD SHX Text
.81 DIA.

AutoCAD SHX Text
2.00

AutoCAD SHX Text
2 SPACES

AutoCAD SHX Text
@ 2.00 = 4.00

AutoCAD SHX Text
0.50

AutoCAD SHX Text
11.50

AutoCAD SHX Text
2.75

AutoCAD SHX Text
1.25

AutoCAD SHX Text
0.13

AutoCAD SHX Text
44 EQUAL SPACES @ 4.00 = 176.00

AutoCAD SHX Text
190.5 (15'-10.5")

AutoCAD SHX Text
.81 DIA. TYP.

AutoCAD SHX Text
TABS @ 6 PLACES


	Sheets and Views
	CANT_LOWES_TEMPLATE_v02-RK(1)
	CANT_LOWES_TEMPLATE_v02-RD(1)


